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Math 16C
Kouba
Worksheet 3

Neatly sketch the level curves in the zy-plane for each of the equations below
using the following values for z : -3,-2,-1,0,1,2, 3. After determining the
level curve, sketch the related surface in 3D-space (or at least describe in
words what you think the surface is).




Lt

|
;;1,

I

10

|

|

- e o o=

L - : - = = "3
= ..___..2'_:*..;(_‘%_\{/ 2:-2
Iox®ty—~ y=x2*-3 <




O e mm owm e E o me e




oW

rinJ,I{:Jﬁudu




3= /Q@_X- Y— Y= ﬂ«x-_j’

2= faXey = Y= fax-2

= T _;(: T

) o 6= Bax-Y = Yz Aax o
-1 Lz X =Y Y= fax+ |
2 2z fax-Y = Y= Mmx+2
=53

~3z faX- Y -a \(;'-ﬁ;ux.y;;







3 §=x24 Y™
2 3= x4+ ¥+
m‘oM—-, ! 0= X*+ Y *
ol — 0 -1 = x2+Y7©
: B o
MM’W“| 6 = X<+ Y
Al 3= Xx*+Y2
._3 X:XZ'*'\{L
E M
\\2 tH /_5
O ( a‘6.7tw-o- 1
,,kuj%) T ’
X,
[O:) 53-1: X2+ Y2 |
i—mM (e R grarase.
3 (0= XT+Y*
2 5= xreN*
| AT XA
o | = X2+Y?*
-l A st
(-—) =] g-= X%y ¥2
-3 6= Xx*+Y*

.
L4







